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H
ulcová

G
K

latovy
4

8
0,0

23,2
54.

M
ichal

Staruch
G

O
A

V
rchla

4
2

0,0
22,7

55.
M

arek
D

ědič
G

B
N

ěm
covH

K
3

1
0,0

19,3
56.

V
eronika

K
lap

ová
G

M
H

orP
H

4
1

0,0
14,6

57.
M

ichal
K

užela
G

Slavičín
1

3
3,5

5,8
14,0

58.
P

avel
Salva

V
O

ŠŠum
p

erk
3

4
0,0

8,7
59.

T
adeas

F
riedrich

G
O

hradníP
H

3
1

0,0
8,0

60.
T

om
áš

Z
ahradník

G
O

P
avla

P
H

3
1

0,0
7,1

61.
Jan

H
orešovský

G
M

ěl
3

1
0,0

6,4
62.

D
om

inik
R

oháček
SP

ŠL
egioJI

3
1

0,0
6,0

63.
V

ojta
Staněk

P
O

R
G

P
ha

-1
1

3
5,7

5,7
64.

P
řem

ysl
Šťastný

G
Z

am
b

erk
-1

1
0,0

4,7
65.

D
om

inika
M

acháčová
G

Sereď
3

1
0,0

4,4
66.

M
artin

V
zorek

SŠStarT
ura

2
1

0,0
1,4

V
zorová

řešení
páté

série
dvacátého

pátého
ročníku

K
SP

25-5-1
C
esta

au
tob
u
sem

U
kážem

e
sim

írně
inženýrské

řešení.V
ezm

em
e

velm
izjedno-

dušenou
úlohu

a
budem

e
jip

ostupně
opravovat,abychom

se
dostali

k
té

složité
(správný

inženýr
by

začal
od

prázdného
program

u,
ale

nem
usím

e
to

přehánět).

T
akže

tedy
od

lesa.C
o

kdybychom
nejezdiliautobusem

,ale
chodili

p
ěšky?

T
o

bychom
nem

useli
řešit,

jakým
sm

ěrem
jsm

e
otočení,

takže
by

úloha
byla

jen
obyčejný

průchod
do

šířky,
jak

je
p

opsaný
například

v
grafové

kuchařce. 1
Jak

znám
o,

to
stihnem

e
v
O

(n
),

kde
n

je
p

očet
p

olíček
plánu

m
ěsta.

T
ak

siúložku
m

alinko
ztížím

e.B
udem

e
jezdit

m
ikrobusem

–
to

bude
autobus

délky
1.U

ž
m

usím
e

řešit
otáčení,ale

m
ůže-

m
e

se
otočit

kdekoliv.
A

na
vyřešení

otáčení
udělám

e
m

a-
lý

trik.
U

dělám
e

si
dvě

kopie
plánu

m
ěsta

a
um

ístím
e

je
na

seb
e

–
takže

budem
e

m
ít

jakýsi
trojrozm

ěrný
prostor.

V
dolním

patře
budou

sousedit
p

olíčka
jen

ve
vodorovném

sm
ěru,

v
horním

patře
jen

ve
svislém

.
A

p
olíčka

nad
seb

ou
budou

sousední
vždy.

V
šim

něm
e

si,
že

patra
plánu

odp
ovídají

otočení
autobusu.

V
dolním

patře
je

autobus
otočený

vodorovně,
v

horním
svisle.P

řesun
m

ezipatry
odp

ovídá
jeho

otočenío
90

◦
(neb

o
π
/2,

p
okud

m
áte

tyto
jednotky

radši).

V
tom

to
dvoupatrovém

bludišti
tedy

op
ět

naleznem
e

cestu
ze

startu
do

cíle
(neb

o
cílů

–
je

jedno,
jak

budem
e

natočení
v

cíli,
proto

jsou
ob

ě
p

olíčka
nad

seb
ou

cílová).
P

rotože
jsm

e
zvětšili

plán
jen

dvakrát,
časová

i
pam

ěťová
složitost

je
stále

O
(n

).

A
už

se
dostávám

e
k

lehčívariantě
úlohy

ze
zadání.B

udem
e

jezdit
klasickým

autobusem
délky

k.
P

ozici
autobusu

si
bu-

dem
e

reprezentovat
p

ozicí
jeho

levého
horního

konce.
Z

to-
ho,

ve
kterém

se
nacházím

e
patře,

p
oznám

e,
jestli

autobus
vede

dolů
neb

o
doprava.

T
ak

to
by

byla
tém

ěř
stejná

úlo-
ha

jako
m

inule.
A

ž
na

to,
že

ne
všechna

p
olíčka

nad
seb

ou
sousedí

(a
ob

čas
sousedí

některá
p

olíčka,
která

nejsou
nad

seb
ou

–
viz

např.
obrázek

v
zadání,

kde
se

otočením
zm

ění
levý

horní
roh

autobusu).
K

dybychom
ale

věděli,
jestli

sto-
jím

e
v

rohu
volného

čtverce
velikosti

alesp
oň

k
×
k,

nem
ěli

bychom
nejm

enší
problém

určit,
jestli

se
zde

otočit
um

ím
e,

či
nikoliv.

H
ledání

čtverců
ale

odložm
e

až
na

konec
řešení.

T
ak

tedy,
zlatý

hřeb
úlohy.

P
otřebujem

e
si

v
průb

ěhu
pro-

hledávání
pam

atovat
ještě

p
oslední

navštívenou
zastávku

(protože
do

ní
nesm

ím
e

hned
vjet

znovu)
a

aktuální
dél-

ku
autobusu.

N
o,

pro
pam

atování
tohoto

si
vytvořím

e
další

„patraÿ
bludiště.

N
aše

dvě
patra

z
lehčí

varianty
zkopíru-

jem
e

tolikrát,
kolik

je
zastávek,

a
v

každé
zastávce

se
tele-

p
ortujem

e
do

stejného
p

olíčka
v

kopii
pro

danou
zastávku.

V
této

kopii
se

do
ní

již
nesm

í
vjet

(ale
vyjet

ano
–

již
m

ám
e

orientovaný
graf).

O
b

dobný
trik

udělám
e

pro
délky

autobusů
–

celé
skupinky

pater
z

m
inulého

kopírovánínako-
pírujem

e
pro

každou
délku

autobusu
a

budem
e

telep
ortovat

m
ezi

nim
i

při
každé

zm
ěně

délky.

T
o

je
celé

hrozně
hezké,ale

udělat
všechny

ty
kopie

by
trva-

lo
hrozně

dlouho
a

zabralo
zbytečně

m
noho

pam
ěti

–
vždyť

m
y

z
těch

kopií
většinu

ani
nikdy

nep
oužijem

e.
P

roto
si

budem
e

jen
„představovatÿ,

že
m

ám
e

všechny
tyhle

kopie.
P

ozice
autobusu

v
celé

té
našístruktuře

bude
reprezentova-

ná
čtveřicí

inform
ací

–
p

ozicí
na

plánu,
otočením

,
p

osled-
ní

navštívenou
zastávkou

a
délkou.

A
le

plán
budem

e
m

ít
jen

jeden.
Jen

to,
která

p
olíčka

v
našem

m
noharozm

ěrném
prostoru

jsou
sousední,

budem
e

p
očítat

p
odle

celé
čtveřice

p
okaždé,když

budem
e

p
otřeb

ovat
sousedníp

olíčka
některé

p
ozice.

T
ak

a
teď

ty
čtverce.

H
odilo

by
se

nám
um

ět
sp

očítat,
ja-

ký
největší

čtverec
vede

z
každého

p
olíčka

doleva
nahoru

(pro
zbylé

3
sm

ěry
to

bude
ob

dobné,
prostě

stejný
algorit-

m
us

pustím
e

vícekrát
v

různých
sm

ěrech).
T

o
je

ale
p

ouze
drobné

cvičení
na

dynam
ické

program
ování. 2

C
hcem

e
sp

očítat
velikost

čtverce
pro

p
ozici

(x
,y).

P
okud

m
ám

e
sp

očítané
velikosti

m
axim

álních
čtverců

pro
p

ozice
(x
−

1,y),
(x
,y
−

1)
a

(x
−

1
,y
−

1),
pak

z
těchto

hodnot
jednoduše

sp
očítám

e
velikost

našeho
čtverce

(vezm
em

e
m

i-
nim

um
z

těch
tří

a
přičtem

e
jedničku

–
kdo

nevěří,
ten

si
to

nakreslí).
A

abychom
tyto

p
ozice

m
ěli

již
sp

očítané,
tak

p
ůjdem

e
p

o
řádcích

shora
zleva.

A
jak

je
to

se
složitostm

i?
U

rčitě
p

otřebujem
e

Ω
(n

)
času

i
pam

ěti
na

načtení
a

uložení
m

apy
a

sp
očítání

velikostí
čtverců.

H
orní

odhad
je

ale
trochu

horší.
U

rčitě
ale

nep
o-

třebujem
e

navštívit
žádný

stav
dvakrát

(tedy,
každá

čtve-
řice

se
ve

frontě
vyskytne

m
axim

álně
jednou).

P
olíček

je
n

,
m

ožných
délek

autobusů
O

(n
)

a
zastávek

nechť
je
z

(kde

1
h
t
t
p
:
//
k
s
p
.
m
f
f
.
c
u
n
i
.
c
z
/
v
i
z
/
k
u
c
h
a
r
k
y
/
g
r
a
f
y

2
h
t
t
p
:
//
k
s
p
.
m
f
f
.
c
u
n
i
.
c
z
/
v
i
z
/
k
u
c
h
a
r
k
y
/
d
y
n
a
m
i
c
k
e
-
p
r
o
g
r
a
m
o
v
a
n
i

–
2

–

algoritm
us

sinorm
álne

s
kapacitam

ivo
vrcholoch

nep
oradí,

a
preto

je
najprv

p
otreba

graf
upraviť

a
previesť

kapacity
z

vrcholov
na

hrany.

A
le

p
op

oriadku.N
ajprv

sa
p

ozriem
e,ako

sa
dala

vyriešiť
ľa-

hšia
varianta.Ú

lohou
b

olo
zistiť,čisa

dá
v

neohodnotenom
neorientovanom

grafe
zo

štartu
(vrchol

A
)

dostať
do

cieľa
(vrchol

C
)

cez
sklad

(vrchol
B

)
s

tým
,

že
niektoré

vrcholy
m

ôžem
e

navštíviť
iba

raz
(tie,

na
ktorých

je
p

olícia).

H
neď

na
začiatok

si
m

ôžem
e

všim
núť,

že
nem

á
význam

ľu-
b

ovoľným
vrcholom

prechádzať
viac

ako
dva

krát
(ak

je
to

m
ožné).

A
k

sm
e

navštívili
nejaký

vrchol
tretí

krát,
znam

e-
ná

to,
že

sled,
ktorým

prechádza
ten

vrchol,
m

á
dve

slučky.
V

rchol
B

p
otrebujem

e
navštíviť

iba
raz,a

teda
jedna

z
tých

slučiek
bude

určite
zbytočná.M

ôžem
e

ju
zo

sledu
vyhodiť

a
vrcholnavštívim

e
už

iba
dva

krát.Z
toho

vyplýva,že
každý

vrcholnám
stačínavštíviť

m
axim

álne
dva

krát
a

neprídem
e

tým
o

žiadne
riešenie.

K
eďže

naším
cieľom

je
na

túto
úlohu

p
oužiť

F
-F

algorit-
m

us,
m

usím
e

sa
najprv

vysp
oriadať

s
p

olicajtm
i

vo
vrcho-

loch.
V

rcholy
p

odrozdelím
e.

K
aždý

takýto
vrchol

nahradí-
m

e
dvojicou

nových.
D

o
prvého

nového
vrcholu

budú
viesť

všetky
hrany,

čo
viedli

do
pôvodného

vrcholu,
z

druhého
nového

vrcholu
budú

viesť
hrany,

ktoré
viedli

z
pôvodného

vrcholu.
T

ieto
dva

nové
vrcholy

sp
ojím

e
hranou.

T
ým

sa
naša

úloha
nezm

enila,
iba

sm
e

obm
edzenie

na
na-

vštívenie
vrcholov

presunuli
na

hrany.
P

očet
hrán

sa
zvýšil

m
axim

álne
o

p
očet

vrcholov,
čo

nám
nič

nezhorší.
K

eďže
graf

v
zadaní

b
ol

neorientovaný
a

F
-F

algoritm
us

pracu-
je

s
orientovaným

i
hranam

i,
každú

(neorientovanú)
hranu

nahradím
e

dvojicou
orientovaných.

Ď
alej

si
vytvorím

e
nový

vrchol
(označm

e
D

)
a

sp
ojm

e
ho

s
A

a
C

.
N

a
ob

e
hrany,

ktoré
z

vrcholu
D

vedú,
p

ostaví-
m

e
p

olicajtov.P
otom

m
ôžem

e
našu

úlohu
preform

ulovať
na

nájdenie
dvoch

ciest
z

vrcholu
B

do
D

s
tým

,
že

m
ôžem

e
prejsť

každou
hranou,

na
ktorej

je
p

olicajt,
m

axim
álne

raz.
K

eďže
na

hranách
C

-D
a
A

-D
sú

p
olicajti,

nie
je

m
ožné,

aby
ob

e
cesty

viedli
p

o
sp

oločnej
jednej

hrane
do

D
.

T
eraz

už
m

ôžem
e

p
oužiť

F
-F

algoritm
us.

K
apacita

hrany
nám

bude
udávať,

koľko
krát

cez
ňu

m
ôžem

e
prejsť.

H
rany,

na
ktorých

sú
p

olicajti,
budú

m
ať

kapacitu
1.

K
eďže

hľa-
dám

e
práve

dve
cesty

m
edzi

A
a
D

,
kapacita

väčšia
ako

2
nem

á
význam

(aj
z

toho
dôvodu,

že
každý

vrchol
nám

stačí
navštíviť

m
ax.

dva
krát).

Z
a

zdroj
zob

eriem
e

vrchol
B

,
za

stok
vrchol

D
.

Spustím
e

F
-F

algoritm
us

a
ten

nám
vráti

m
axim

álny
tok

v
tom

grafe.
A

k
bude

tok
nulový,

znam
ená

to,
že

neexistuje
žiadna

(zlepšujúca)
cesta

z
B

do
D

,
a

teda
z
B

sa
neviem

e
dostať

ani
do

A
a

ani
do

C
.

V
tom

prípade
úloha

nem
á

rie-
šenie.

A
k

tok
bude

veľkosti
jedna,

znam
ená

to,
že

existuje
nejaká

cesta
z
B

do
D

,
ale

neexistujú
tie

cesty
dve,

ktoré
by

spĺňali
p

odm
ienku

p
olicajtov.

T
eda

z
B

sm
e

sa
nevede-

li
dostať

buď
do

A
,

aleb
o

do
C

,
keďže

na
ob

och
hranách

pred
vrcholom

D
sú

p
olicajti.

A
ni

v
tom

to
prípade

riešenie
zjavne

neexistuje.

A
p

osledný
prípad,

ktorý
m

ôže
nastať,

je
tok

veľkosti
2.

V
äčší

už
byť

nem
ôže,

leb
o

súčet
kapacít

hrán,
ktoré

vedú
do

stoku,
je

2.
A

k
nám

F
-F

našiel
tok

veľkosti
2,

znam
ená

to,
že

každou
hranou,

na
ktorej

je
p

olicajt,
prechádzam

e
m

axim
álne

raz
a

m
ám

e
dva

sledy
z
B

do
D

,
ktoré

sú
dis-

junktné
na

hranách
s

p
olicajtm

i.
T

eda
nutne

existuje
sled

z
A

do
B

a
aj

sled
z
B

do
C

a
pritom

platí,
že

každá
hrana,

na
ktorej

sú
p

olicajti,
sa

vyskytne
v

sledoch
A

-B

a
B

-C
m

axim
álne

raz.
T

eda
v

tom
to

prípade,
keď

existuje
tok

o
veľkosti

2,
úloha

m
á

riešenie.

A
k

tieto
dva

sledy
chcem

e
vypísať,

m
ôžem

e
p

oužiť
rovna-

ký
algoritm

us
ako

na
vypísanie

hranovo
disjunktných

ciest,
ktorý

je
p

opísaný
v

kuchárke.

Ú
loha

sa
dá

aj
priam

o
previesť

na
hľadanie

hranovo
dis-

junktných
ciest.

Z
droj

a
stok

zob
eriem

e
rovnaký

ako
vyššie

a
p

odrozdelím
e

tentokrát
každý

jeden
vrchol,čím

opäť
pre-

suniem
e

p
olíciu

na
hrany.H

rany,na
ktorých

p
olícia

nestojí,
zdvojím

e
a

p
otom

p
ostavím

e
p

olíciu
na

každú
jednú

hranu.
Z

dvojením
sm

e
zab

ezp
ečili,

že
sa

m
edzi

vrcholm
i

dá
prejsť

aj
dva

krát
a

teda
pridaním

p
olície

na
každú

hranu
nič

ne-
p

okazím
e.

A
teraz,

keď
už

budú
m

ať
všetky

hrany
svojho

p
olicajta,

m
ôžem

e
im

nastaviť
kapacitu

1
a

p
oužiť

kuchár-
kový

algoritm
us

na
hľadanie

hranovo
disjunktných

ciest.
V

tom
to

prípade
p

otrebujem
e

dve
hranovo

disjunktné
ces-

ty
zo

zdroju
do

stoku,
čo

bude
ekvivalentné

s
existenciou

riešenia
ľahšej

varianty
úlohy.

P
ozrim

e
sa

ešte
na

časovú
zložitosť.

T
reba

nám
nájsť

tok
o

veľkosti
2.

T
o

znam
ená,

že
p

otrebujem
e

spraviť
m

ax.
dve

iterácie
F

-F
algoritm

u.
T

eda
nájsť

m
ax.

dve
zlepšujúce

ces-
ty.N

ájsť
zlepšujúcu

cestu
viem

e
prehľadaním

do
šírky.T

eda
časová

zložitosť
celého

algoritm
u

bude
rovnaká

ako
jedna

iterácia
F

-F
a

bude
to

lineárne
od

p
očtu

hrán
a

vrcholov.
P

am
äťová

zložitosť
taktiež.

P
oďm

e
sa

teraz
p

ozrieť
na

ťažšiu
variantu

tohto
príkladu.

V
nej

b
olo

p
otrebné

zo
všetkých

ciest
z
A

do
C

cez
B

nájsť
tú

najkratšiu,
ktorá

by
splňovala

p
odm

ienku
p

oli-
cajtov.

A
ko

prvé
by

nás
m

ohlo
napadnúť

p
oužiť

rovnaký
algoritm

us
ako

pri
ľahšej

variante
a

upraviť
hľadanie

zlep-
šujúcich

ciest
tak,

aby
sm

e
vyb

erali
vždy

tú
najkratšiu.

V
yzerá,

že
by

to
m

ohlo
fungovať,

ale
je

v
tom

háčik.
N

ie-
kedy

pri
hľadaní

zlepšujúcej
cesty

sa
nám

oplatí
tlačiť

tok
p

o
nejakej

hrane
spať.

A
teda

nem
ôžem

e
hľadať

zlepšujúcu
cestu,

ktorá
bude

najkratšia
v

p
očte

hrán.
M

ôže
existovať

nejaká
zlepšujúca

cesta
s

väčším
p

očtom
hrán,

ktorá
bude

na
veľkom

p
očte

hranách
tlačiť

tok
spať.

P
o

pridaní
takej-

to
zlepšujúcej

cesty
už

nebude
p

o
tých

hranách
nič

tiecť,
a

teda
tie

hrany,
p

o
ktorých

sm
e

tlačili
tok

späť,
nechce-

m
e

zap
očítať

do
dĺžky

výslednej
cesty

m
edzi

A
-C

(pretože
p

o
nich

nakoniec
nepôjdem

e).
B

a
naopak

p
otrebujem

e
ich

odp
očítať,

leb
o

v
nejakej

predchádzajúcej
iterácii

hľadania
zlepšujúcej

ceste
sm

e
ich

do
dĺžky

cesty
prip

očítali
a

teraz
už

p
o

nich
nič

netečie.
T

eda
v

jednej
F

-F
iterácii

z
p

om
edzi

všetkých
zlepšujúcich

ciest
p

otrebujem
e

vybrať
takú,

ktorá
bude

m
ať

súčet
ohodnotení

hrán
najnižší.

V
prvej

iterácii
začínam

e
s

nulovým
tokom

,
a

teda
tu

nám
stačí

nájsť
najkratšiu

zlepšujúcu
cestu

(p
o

žiadnej
hrane

nebudem
e

tlačiť
tok

späť,
keďže

je
nulový).

P
red

začiatkom
druhej

iterácie,
bude

p
o

všetkých
hranách

tiecť
tok

buď
0,

aleb
o

1.
V

prípade,
že

budem
e

chcieť
ísť

v
druhej

iterácii
p

o
hrane,

p
o

ktorej
zatiaľ

nič
netečie,

ohodnotenie
hrany

bude
naďalej

1.
V

prípade,
že

budem
e

chcieť
ísť

p
o

hrane
p

o
sm

ere
toku

(veľkosti
1),

p
otom

ohodnotenie
hrany

bude
tiež

1.V
prípade,že

budem
e

chcieť
ísť

p
o

hrane
protism

eru
toku

(veľkosti
1),

tak
ohodnotenie

takejto
hrany

bude
−

1.
T

ým
docielim

e,
že

ak
p

o
hrane

budem
e

tok
tlačiť

späť,
tak

sa
nám

naozajznížiajdĺžka
cesty

A
-C

presne
o

tok,čo
pred

tým
p

o
tej

hrane
tiekol.A

teda
ohodnotenie

hrán
nám

bude
udávať

dĺžku
cesty

m
edzi

A
-C

.

N
ájdenie

zlepšujúcej
cesty

bude
sp

očívať
v

nájdení
naj-

kratšej
cesty

s
naším

novým
ohodnotením

hrán.
N

a
to

ale

–
7

–



balíků
s

číslem
větším

než
k

–
ty

jsou
vybírány

p
ozději

a
nezávisle.

P
ozice

prvních
pár

balíků
se

určitě
zm

ění,leč
nás

nezajím
ají

přesně
–

zajím
á

nás
jen

to,
které

z
nich

zůsta-
nou

na
prvních

k
m

ístech
(b

ez
ohledu

na
to,

kde
konkrét-

ně).
I

to
se

p
ochopitelně

zm
ění:

např.
pro

k
=

2
,N

=
3,

p
okud

jsm
e

p
ůvodně

p
o
k-tém

kroku
m

ěli
p

erm
utaci

(2,1)
a

p
oslední

balík
nahradím

e
třetím

,
dostanem

e
na

konci
k-

tici{2,3},
kdežto

p
okud

ji
nahradím

e
setříděným

p
ořadím

(1
,2),

skončím
e

na
konci

s
{1
,3}.

P
odívejm

e
se

ale
na

to,
jak

p
ostupně

nahrazujem
e

balíky
{1,...,k}

v
p

očátečním
úseku

jiným
i.

P
ři

každé
úpravě

p
erm

utace
m

ají
všechny

„přeživšíÿ
z

prvních
k

balíků
stejnou

pravděp
odobnost

být
odsunuty

na
konec

–
jiným

i
slovy,

p
erm

utační
algoritm

us
balík

k
vyřazení

vybírá
náhodně.

A
p

okud
na

začátku
prv-

ních
k

balíků
nějak

jednorázově
přeusp

ořádám
e,

nebudou
tyto

výb
ěry

o
nic

m
éně

náhodné
(spíše

k
intuitivním

u
na-

hlédnutí,
p

octivý
důkaz

by
dal

trochu
práce,

klíčovým
je

fakt,
že

naše
přeusp

ořádání
a

tyto
náhodné

výb
ěry

jsou
n
ezávislé

).

P
okud

z
p

erm
utačního

algoritm
u

odstraním
e

prvních
k

kro-
ků

a
začnem

e
(k

+
1)-ním

s
p

erm
utací

(1,2,...,k),ze
všech

prohození
už

se
stanou

přiřazení
(vždy

bude
alesp

oň
jeden

prvek
ležet

m
im

o
prvních

k)
a

dostávám
e

algoritm
us

na-
prosto

identický
s

p
ůvodním

k-ticovým
.

Jen
jsm

e
k

něm
u

přišli
tak

trochu
z

jiné
strany.

P
oznám

ky

1)
V

šichni
řešitelé

až
na

jednoho
p

ovažovali
za

dostatečné
dokázat,

že
každý

balík
m

á
stejnou

pravděp
odobnost

ob
je-

vit
se

na
výstupu.

T
o

ale
ještě

vůb
ec
n
ezn
am
en
á,

že
každá

k-tice
bude

m
ít

stejnou
pravděp

odobnost.
N

apř.
pro

k
=

2
a
N

=
4

a
algoritm

us,
který

vrací
se

stejnou
pravděp

odob-
ností

dvojice
{1,2}

a
{3
,4}

se
každý

balík
vyskytuje

právě
v

jedné
ze

dvou
m

ožných
dvojic,

ob
jeví

se
tedy

na
výstupu

se
stejnou

pravděp
odobností

1/2
(dokonce

„tou
správnouÿ,

neb
k
/N

=
1
/2).

O
všem

určitě
není

pravda,
že

by
všech-

ny
dvojice

ze
čtyřech

balíků
m

ěly
stejnou

pravděp
odobnost

být
výstup

em
.

B
a

co
víc,

většinu
(4)

jich
algoritm

us
vůb

ec
vygenerovat

neum
í!

M
ísto

šesti
dvojic

se
stejnou

pravděp
o-

dobností
1/6

generuje
dvě

s
pravděp

odobností
1/2

a
čtyři

s
nulovou!A

jedno
takové

řešenínám
opravdu

přišlo.Sam
o-

zřejm
ě

cháp
em

e,
že

to
s

teorií
pravděp

odobnosti
na

střed-
ních

školách
nebude

nikterak
slavné,

pročež
jsm

e
řešením

,
která

generovala
k-tice

rovnom
ěrně,

ale
p

ořádně
to

o
sob

ě
nedokázala

(většina
došlých),

strhávali
jen

jeden
b

od.

2)
N

ěkteří
řešitelé

p
oužívali

ke
generování

náhodných
čí-

sel
z

rozsahu
0
...m

−
1

ve
svých

zdrojácích
konstrukci

r
a
n
d
(
)
%
m,

kde
r
a
n
d
(
)

je
funkce

vracející
náhodná

čís-
la

z
nějakého

fixního
velkého

rozsahu
0
...M

−
1,

typicky
daného

m
axim

álním
rozsahem

celočíselného
datového

typu
(M

je
2
3
1

či
2
6
3

pro
C

éčkový
i
n
t),

a
%

op
erátor

m
odula.

P
ro
m

nesoudělné
s
M

nebude
výsledek

takovéhoto
výra-

zu
úplně

rovnom
ěrně

náhodný,
jak

naznačuje
pro

příklad
M

=
10,

m
=

4
obrázek

níže:

00
1

2
3

rand()

rand()%
4

0
1

2
3

0
1

2
3

4
8 9

V
idím

e,
že

čísla
0

a
1

m
ají

větší
pravděp

odobnost
(3
/10)

než
ostatní

(2
/10),

neb
oť

když
rozdělím

e
interval

0
...9

na
úseky

délky
4,

ob
jeví

se
i

v
p

osledním
neúplném

.
O

b
ecně

m
ají

čísla
m

enší
než

M
m

od
n

pravděp
odobnost

dM
/
m
e

a
ostatníbM

/
m
c.

T
yto

pravděp
odobnosti

budou
stejné

prá-
vě

tehdy,
když

M
/
m

je
celočíselné.

O
b

ecně
to,

jak
m

oc
vel-

ká
nerovnom

ěrnost
bude,záležína

p
om

ěru
(M

m
od

m
)/M

.
Z

a
tuto

technickou
drobnost

jsm
e

p
ochopitelně

nestrháva-
li

žádné
b

ody,
ale

p
okud

někdy
budete

program
ovat

něco
hodně

závislého
na

rovnom
ěrně

náhodných
číslech,je

dobré
m

ít
to

na
pam

ěti.

D
alo

by
se

to
ob

ejít
tak,

že
p

okud
nám

„padneÿ
8

neb
o

9,
tento

výsledek
zahodím

e
a

zkusím
e

to
znovu

(iopakovaně).
A

le
to

nenípředm
ětem

této
úlohy.B

ylo
naprosto

oprávněné
předp

okládat,
že

um
ím

e
generovat

náhodná
čísla

z
dané-

ho
rozsahu

v
konstantním

čase.
P

okud
na

to
váš

oblíb
ený

jazyk
nem

á
žádnou

funkci,
m

ůžete
si

nějakou
vym

yslet
a

v
kódu

tento
fakt

okom
entovat

(program
y

jen
čtem

e,
ob-

vykle
se

je
nesnažím

e
sp

ouštět).
V

případě
této

úlohy
by

bylo
asi

nejjednodušší
prostě

m
ísto

zdrojáku
p

oslat
pseu-

dokód.

M
artin

M
areš

&
F
ilip
Š
tědron

ský

25-5-6
D
ělen

í
d
ortu

P
řím

očarým
řešením

je
vyzkoušet

všechny
m

ožné
průb

ěhy
hry

a
z

nich
vybrat

ten
nejlepší.

V
prvním

tahu
je

na
výb

ěr
N

zp
ůsob

ů
jak

táhnout,
v

následujících
N
−

2
tazích

jsou
zp

ůsoby
právě

dva.
C

elkem
tedy

m
ám

e
N

2
N

−
2

m
ožných

scénářů
hry.

Z
ískali

bychom
tedy

řešení
s

exp
onenciální

ča-
sovou

složitostí.

C
hcem

e-lise
zbavit

exp
onenciály,stojíza

zam
yšleníotázka,

zda
něco

nep
očítám

e
zbytečně.

O
pravdu

nás
pro

získání
výsledku

zajím
ají

všechny
m

ožné
průb

ěhy
hry?

P
ovšim

něm
e

si
následujícího

–
jedinou

inform
ací

o
p

ozici
hry,

která
m

á
vliv

na
volbu

dalšího
tahu

je
aktuální

nesně-
dený

úsek
dortu.

P
ro

každý
úsek

délky
1

až
N
−

1
existuje

N
p

ozic,
kde

tento
úsek

začíná.
Ú

sek
reprezentující

celý
dort

je
p

ouze
jeden,

ale
bude

se
nám

pro
naše

řešení
hodit

uvažovat
jej

jako
N

různých
úseků

p
odle

toho,
kde

p
om

y-
slně

začíná.
U

važujem
e

tedy
N
2

úseků.

P
ro

každý
úsek

zjistím
e,kolik

nejvýše
m

ůže
hráč

získat,p
o-

kud
na

tom
to

dílku
táhne

jako
první,

a
kolik,

p
okud

táhne
jako

druhý.

P
ro

úseky
délky

1
ukořistí

první
hráč

dílek
odp

ovídající
tom

uto
úseku

a
druhý

nic.
P

ro
úsek

délky
`

začínající
na

dílku
i

a
končící

na
dílku

j
m

á
hráč

na
tahu

2
m

ožnosti
–

sníst
dílek

na
p

ozici
i,neb

o
j.V

prvním
případě

bude
zisk

s
i

(velikost
i-tého

dílku)
plus

zisk
druhého

hráče
na

úseku
délky

`−
1

končícím
na

p
ozici

j,v
druhém

případě
bude

zisk
s
j

plus
zisk

prvního
hráče

na
úseku

délky
`−

1
začínajícím

na
p

ozici
i.

Ř
ešením

úlohy
pak

bude
největší

hodnota
z

m
ožných

zis-
ků

na
dílcích

délky
N

.
H

odnoty
zisků

pro
jeden

dílek
na-

značeným
zp

ůsob
em

sp
očtem

e
v

konstantním
čase,

časová
složitost

p
ostupu

tak
bude

O
(N
2).

V
šim

něm
e

si,
že

si
stačí

v
průb

ěhu
řešení

pam
atovat

p
ouze

zisky
pro

úseky
délky

`−
1

a
`,

pak
získám

e
pam

ěťovou
složitost

O
(N

).

L
ukáš

F
olw
arczn

ý

25-5-7
P
olicejn

í
korid

or

K
zadaniu

tejto
úlohy

b
ola

priložená
kuchárka

o
tokoch

v
sieťach.

M
alo

vám
to

nap
om

ôcť,
že

úlohu
treba

riešiť
p

o-
m

ocou
tokov.

T
oho

ste
sa

skoro
všetci

chytili
a

p
oužili

ku-
chárkový

F
ord-F

ulkersonov
(F

-F
)

algoritm
us

na
vyriešenie

ľahšej
varianty.

V
iacerí

z
V

ás
ste

ale
vo

svojich
riešeniach

zabudli
napísať

aleb
o

ste
nedôsledne

čítali,
že

F
-F

algorit-
m

us
dostane

kapacity
na

hranách
a

nie
vo

vrcholoch.
F

-F

–
6

–

z
je
O

(n
)).

O
rientace

autobusu
jsou

jen
dvě.

T
akže

m
ám

e
O

(n
2·z)

m
ožných

stavů.

N
avíc,

protože
jsm

e
si

nevytvořili
všechny

kopie
m

apy,
m

u-
sím

e
si

nějak
pam

atovat,
které

stavy
jsm

e
už

navštívili.
P

okud
to

udělám
e

např.
ve

strom
u,

zaplatím
e

za
to

ještě
logaritm

ickým
zp

om
alením

,
takže

časová
složitost

by
byla

O
(n
2·z ·log

n
).

T
aké

bychom
m

ohli
m

ísto
strom

u
p

oužít
hešování

a
dostat

složitost
O

(n
2·z)

v
prům

ěru.

L
ze

očekávat,
že

na
„slušně

vychovanýchÿ
m

apách
do

tako-
vých

extrém
ů

nebudem
e

m
uset

jít,
ale

jdou
vytvořit

i
„ne-

slušnéÿ
m

apy
–

například
začnem

e
s

dlouhým
autobusem

a
na

jeho
zkrácení

o
1

je
p

otřeba
projet

řádově
n

p
olíček.

A
do

cíle
p

ovede
klikatá

cesta,
kterou

projede
jen

kratičký
autobus.

T
aktéž,

p
okud

bychom
si

vytvořili
všechny

ty
kopie

na
za-

čátku,
zbavili

bychom
se

onoho
logaritm

u.
A

le
za

cenu
to-

ho,
že

by
nám

to
vždy

trvalo
Ω

(n
2·z).

T
edy,

m
usím

e
si

rozm
yslet,

jestli
čekám

e
spíše

slušně
vychované

m
apy,

neb
o

ty
neslušně

vychované.
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ython):
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„V
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V
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T
elefon

n
í
ú
střed

n
a

Ú
loha

byla
p

om
ěrně

jednoduchou
aplikací

principu
dyna-

m
ického

program
ování. 3

P
okud

tento
p

ojem
slyšíte

p
oprvé,

dop
oručuji

přečíst
si

naši
kuchařku.

K
rom

ě
p

olípro
záznam

a
hovor

sip
ořídím

e
ještě

p
ole
s
t
a
v
y

o
délce

s
(tedy

stejně
dlouhé

jako
hovor).

D
o

něj
si

na
i-tou

p
ozicibudem

e
ukládat

zatím
ob

jevený
p

očet
prefixů

hovoru
délky

i.

P
ostupně

tedy
procházím

e
p

ole
záznam

u
odzadu.V

každém
kroku

tohoto
průchodu

začnem
e

procházet
od

začátku
celé

p
ole

hovoru
a

vždy
p

orovnám
e

bity.
P

okud
se
j-tý

bit
ho-

voru
shoduje

s
příslušným

bitem
záznam

u,
znam

ená
to,

že
m

ůžem
e

prodloužit
všechny

dosud
nalezené

prefixy
hovoru

délky
j
−

1.
T

o
odp

ovídá
přičtení

prom
ěnné

s
t
a
v
y
[
j
-
1
]

k
s
t
a
v
y
[
j
]

v
případě,

že
j
>

1,
a

přičtení
jedničky

v
pří-

padě,
že
j

=
1.

K
ýžený

výsledek,
tedy

p
očet

zp
ůsob

ů,
jak

z
bitů

záznam
u

vybrat
p

odp
osloupnost

odp
ovídající

hovoru,
se

nachází
na

konci
algoritm

u
ve
s
t
a
v
y
[
s
].

R
ozm

yslem
e

si
ještě,

že
p

ole
záznam

u
p

otřebujem
e

prochá-
zet

odzadu.
P

akliže
tak

neučiním
e

a
j-tý

a
(j
−

1)-tý
bit

hovoru
bude

stejný,
zvýším

e
nejdříve

s
t
a
v
y
[
j
-
1
]

o
k
>

0
a

pak
s
t
a
v
y
[
j
]

o
k

víc,
než

bychom
m

ěli.

P
okud

bychom
za

každou
cenu

chtěli
hovor

procházet
od-

předu,m
uselibychom

p
oužít

ještě
jedno

p
om

ocné
p

ole,kam
bychom

sizm
ěny

ukládalia
vždy

až
na

koncizpracováníin-
dexu

záznam
u

tyto
zm

ěny
k

p
oli
s
t
a
v
y

přičetli.

N
akonec

ke
složitostem

.P
am

ěťová
je

očividně
lineárník

dél-
ce

záznam
u

a
hovoru,

tedy
O

(n
+
s).

O
hledně

časové
pak

vidím
e,

že
pro

každý
bit

záznam
u

procházím
e

celý
hovor,

tedy
výsledná

časová
složitost

je
O

(n
s).
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Jan
B
ok

25-5-3
Š
p
agety

Ú
loha

se
špagetam

i
vás

očividně
zaujala,

přišlo
na

ní
skoro

nejvíce
řešení

páté
série

(jen
o

jedno
řešení

m
éně,

než
kolik

m
ěla

„nejoblíb
enějšíÿ

úloha
série

25-5-2).

V
e

vašich
řešeních

se
ob

jevovaly
dva

přístupy,které
nakonec

vedly
skoro

k
tom

u
sam

ém
u.

Jedním
z

nich
bylo

vytvořit
si

ze
špaget

graf.Z
p

odlouhlých
špaget

se
nám

stanou
vrcholy

(z
každé

špagety
jeden)

a
orientované

hrany
v

tom
to

grafu
natáhnem

e
tam

,
kde

jedna
špageta

leží
přím

o
na

druhé
(te-

dy
p

okud
ve

sm
ěru

gravitační
osy

jsou
dílky

špaget
přím

o
nad

seb
ou,

neb
o

je
m

ezi
nim

i
jen

prázdné
m

ísto).

P
okud

do
nějaké

špagety
ještě

p
ovedou

vstupní
hrany,

zna-
m

ená
to,

že
nad

ní
ještě

něco
leží

a
nem

ůžem
e

ji
tedy

ode-
brat.

N
avíc

si
uvědom

m
e,

že
nám

stačí
tyto

hrany
natáh-

nout
vždy

jen
m

ezi
přím

o
sousedícím

i
špagetam

i.
P

okud
nad

seb
ou

totiž
leží

více
špaget,

tak
nejsp

odnější
špagetu

zajím
á

jen
špageta

těsně
nad

ní
a

je
jí

jedno,
jestli

je
to

jediná
špageta,

která
ji

blokuje,
neb

o
je

jich
nad

ní
více.

P
ak

již
jen

m
ůžem

e
najít

špagety,které
nejsou

p
okryté

žád-
nou

hranou
(m

ají
vstupní

stup
eň

nula)
a

p
ostupně

všechny
odeb

erem
e.

B
ěhem

odebírání
každé

ze
špaget

zruším
e

i
pří-

slušné
hrany

a
současně

se
dívám

e,
jestli

jsm
e

nezískali
no-

vou
volnou

špagetu.
P

okud
ano,

vložím
e

ji
do

p
om

ocného
zásobníku.

T
o

je
jeden

krok.

V
dalším

kroku
vezm

em
e

p
om

ocný
zásobník

a
odeb

erem
e

všechny
špagety,

které
jsou

v
něm

.
T

ím
nám

op
ět

vznik-
nou

nové
volné

špagety
a

takto
budem

e
p

okračovat,
dokud

nevyprázdním
e

talíř,
neb

o
dokud

to
dál

nep
ůjde.

D
ruhým

přístup
em

,který
v

důsledku
vede

na
stejnou

struk-
turu,

jen
je

v
něm

graf
více

schovaný,
je

procházet
talíř

špaget
p

ostupně
p

o
sloup

cích
a

k
oindexovaným

špagetám
si

ukládat
p

očet
špaget,

kterým
i

je
tato

špageta
přím

o
za-

kryta.
P

ři
odebírání

se
pak

tento
čítač

snižuje
a

řešení
tak

funguje
stejně,

jako
výše

p
opsané.

K
vyp

očítánísložitostisioznačm
e

jako
N

p
očet

špaget,jako
M

p
očet

hran
m

ezi
nim

i
a

jako
V

ob
jem

talíře.
Je

jasné,
že

N
,M
≤
V

,
protože

m
axim

álně
m

ůžem
e

m
ít

jednotkovou
špagetu

na
každém

p
olíčku

talíře.
M

ůže
nám

také
nastat

situace,
kdy

bude
hran

řádově
N
2

(představte
si

v
jedné

vrstvě
N
/2

rovnob
ěžných

špaget
a

p
od

nim
istejnou

vrstvu,
jen

zrotovanou).
P

am
ěťová

složitost
je

tedy
O

(N
+
M

),
ale

jelikož
N

a
M

nevím
e

na
vstupu,

je
asi

korektnější
odhad

udělat
jako

O
(V

).

Č
asová

složitost
je

pak
stejná,

protože
na

každou
špagetu

se
p

odívám
e

přivýp
očtu

m
axim

álně
jednou

a
p

o
každé

hra-
ně

se
vydám

e
také

jen
jednou,

což
je

zase
O

(N
+
M

)
na

výp
očet.

N
a

vytvoření
grafu

ale
určitě

p
otřebujem

e
projít

celý
talíř

(navíc
ho

m
usím

e
i

načíst),
tedy

časová
složitost

je
také

O
(V

).

H
odně

štěstíipřidalších
p

okusech
nep

okecat
se

špagetam
i!
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N
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si
správne
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ako
úlohu

previesť
na

gra-
fovú.

P
redstavm

e
si,

že
na

vstup
e

dostanem
e

výrok
typu

„A
tvrdí,

že
B

je
m

afiánÿ.
Č

o
všetko

viem
e

p
ovedať

o
A

a
B

?
A

k
A

je
zam

estnanec
(budem

značiť
A
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tak
B

bude

3
h
t
t
p
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m
f
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c
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–



určite
m

afián.
A

k
je

zas
B

m
afián,

tak
A

m
usí

byť
zam

est-
nanec

(m
afián

by
klam

al
a

netvrdil,
že

B
je

m
afián).

Je
jednoduché

p
odobne

odvodiť,
že

ak
A

je
m

afián
(značím

A
0 ),

tak
B

je
zam

estnanec
a

ak
B

je
zam

estnanec,
tak

A
je

m
afián.

Iným
i

slovam
i,

pri
tom

to
výroku

platí

A
1
⇔
B
0 ,

A
0
⇔
B
1 .

V
prípade

výroku
typu

„A
tvrdí,

že
B

nie
je

m
afiánÿ

rov-
nakým

p
ostup

om
odvodím

e,
že

platí

A
1
⇔
B
1 ,

A
0
⇔
B
0 .

Z
o

vstupu
teda

m
ôžem

e
vyrobiť

graf.
Z

a
každú

novú
oso-

bu
X

pridám
e

do
grafu

dva
vrcholy,

a
to
X
1

a
X
0 .

Je
asi

zrejm
é,

ako
budú

vyzerať
hrany

v
tom

to
grafe.

V
prípade

výroku
„A

tvrdí,
že
B

je
m

afiánÿ
sp

ojím
e

hranou
vrcholy

A
1 ,
B
0

a
vrcholy

A
0

a
B
1 .

P
odobne

pri
výroku

„A
tvrdí,

že
B

nie
je

m
afiánÿ

sp
ojím

e
hranou

vrcholy
A
1 ,
B
1

a
vrcholy

A
0 ,
B
0 .

K
čom

u
nám

p
om

ôže
takýto

graf?
Je

vidieť,
že

ak
nasta-

ne
situácia,

že
existuje

vrchol
X
0 ,

ktorý
je

sp
ojený

nejakou
cestou

s
vrcholom

X
1 ,

tak
práve

vtedy
si

m
usel

niekto
pro-

tirečiť
a

p
očet

m
ožností

je
0.

A
k

totiž
vyjdem

e
z

nejakého
vrcholu

a
dostanem

e
sa

do
iného,

tak
to

znam
ená,

že
z

vý-
p

ovedičloveka
A

dokážem
e

vyvodiť,že
či
X

je
m

afián
aleb

o
nie

p
odľa

toho,
či

sm
e

vo
vrchole

X
1

aleb
o
X
0 .

A
k

situácia
z

predchádzajúceho
odstavca

nenastane,
tak

p
očet

m
ožností

je
2
k
/
2,

kde
k

je
p

očet
kom

p
onent

súvislos-
ti

grafu.
V

šim
nim

e
si,

že
pre

každú
kom

p
onentu

je
navyše

v
grafe

ešte
aj

jej
negácia.

K
om

p
onenta

súvislosti
v

na-
šom

grafe
nám

vlastne
hovorí

nasledovné.
P

redstavm
e

si,
že

v
nejakej

kom
p

onente
sa

nachádza
vrchol

X
1 .

A
k

p
o-

viem
,

že
X

je
zam

estnanec,
tak

som
rozhodol

o
všetkých

vrcholoch
v

kom
p

onente,
že

či
sú

zam
estnanci

aleb
o

m
afi-

áni.
N

egácia
kom

p
onenty

nám
dáva

druhú
m

ožnosť.

A
k

by
sm

e
riešenie

chceli
naprogram

ovať,
tak

p
o

skonštru-
ovaní

grafu
nájdem

e
prehľadávaním

do
hĺbky

(aleb
o

do
šír-

ky)
kom

p
onenty

grafu
a

p
očas

prehľadávania
m

ôžm
e

kont-
rolovať,že

čisa
X
0

a
X
1

nenachádza
v

tejistejkom
p

onente,
pre

každé
X

.
Č

asová
zložitosť

je
O

(n
+
m

),
kde

2
n

je
p

očet
vrcholov

grafu
a
m

je
p

očet
hrán

grafu.
P

ri
tom

to
odhade

predp
okladám

,
že

násob
enie

m
á

zložitosť
O

(1).
V

šim
nite

si,
že

p
očet

m
ožností

je
v

najhoršom
prípade

exp
onenciál-

ny,
napríklad

keď
nedostanem

e
na

vstup
e

žiadne
výroky.

P
eter

Z
em
an

25-5-5
Ú
k
lid
tráv

n
ík
u

O
značm

e
si

celkový
p

očet
balíků

N
(pro

účely
teoretické-

ho
rozb

oru,
toto

číslo
p

ochopitelně
nesm

ím
e

v
algoritm

u
p

oužít),
jednotlivé

balíky
1
,...,N

a
k

velikost
vybíraného

vzorku.
B

udem
e

předp
okládat,

že
um

ím
e

generovat
náhod-

ná
celá

čísla
z

rozsahu
1,...,m

v
konstantním

čase
pro

lib
ovolné

m
≤
N

.
D

ále
předp

okládám
e,

že
N
≥
k

(jinak
by

úloha
vůb

ec
nem

ěla
sm

ysl).

Ř
ešení

pro
k

=
1

Z
ařídím

e
si
odkladiště

(celočíselnou
prom

ěnnou),
na

kte-
rém

si
budem

e
uchovávat

jeden
jakýsi

„prozatím
ně

vybra-
nýÿ

balík
z

dosud
zpracované

části
vstupu.

A
lgoritm

us
p

o-
tom

bude
pracovat

takto:
na

začátku
um

ístí
do

odkladiště
první

vstupní
balík

a
p

oté
p

ostupně
prochází

všechny
další

v
p

ořadí,
v

jakém
přicházejí

na
vstupu.

U
každého

se
bude

m
uset

rozhodnout,
zdali

jej
um

ístit
do

odkladiště
(a

tedy

jím
p

ůvodní
vybraný

balík
nenávratně

nahradit),
neb

o
za-

hodit.
B

alík,
který

v
odkladišti

zůstane
p

o
zpracování

celé-
ho

vstupu,
označím

e
za

hledaný
vzorek.

B
udem

e
p

ostup
ovat

induktivně:
chcem

e,
aby

na
konci

kaž-
dého

kroku
m

ěly
všechny

zatím
zpracované

balíky
stejnou

pravděp
odobnost

nacházet
se

v
odkladišti.

P
okud

toto
za-

jistím
e,

pak
už

určitě
na

konci
budou

m
ít

všechny
balíky

stejnou
pravděp

odobnost
výb

ěru.

N
a

začátku
to

určitě
platí

–
m

ám
e

jediný
balík,

který
se

v
odkladišti

nachází
s

pravděp
odobností

1.
N

yní
předp

o-
kládejm

e,
že

už
m

ám
e

prvních
n
−

1
balíků

zpracovaných
(n
≥

2)
a

dle
indukčního

předp
okladu

se
každý

z
nich

na-
chází

v
odkladišti

s
pravděp

odobností
1/(n

−
1).

N
a

konci
kroku

by
se

m
ělkaždý,tedy

inově
přidaný,balík

ob
jevit

na
odkladišti

s
pravděp

odobností
1
/
n

.
N

ezbývá
nám

tudíž
nic

jiného,
než

tam
nový

balík
s

pravděp
odobností

1
/
n

um
ís-

tit.
Z

bývá
ověřit,

že
dostanem

e
správnou

pravděp
odobnost

iu
ostatních

balíků
(1

až
n−

1).K
aždý

z
nich

m
á

pravděp
o-

dobnost
1

n
−
1
·
n
−
1

n
=

1
/
n

obsazovat
na

konci
n

-tého
kroku

odkladiště
(m

usel
se

tam
nacházet

v
předchozím

kroku
a

m
useli

jsm
e

se
rozhodnout

nenahradit
jej

n
-tým

).

O
b
ecné

k

P
ro

ob
ecné

k
budem

e
p

ostup
ovat

ob
dobně,

jen
na

odkla-
dišti

(nyní
p

oli
délky

k)
budem

e
skladovat

prozatím
ně

vy-
branou

k-tici
balíků.

A
p

ochopitelně
budem

e
chtít,

aby
na

konci
n

-tého
kroku

m
ěly

všechny
m

ožné
k-tice

ze
zatím

načtených
balíků

stejnou
pravděp

odobnost
obsazovat

od-
kladiště.

Indukci
začnem

e
až

od
k-tého

balíku,
kdy

um
ístím

e
do

od-
kladiště

rovnou
všechny

balíky
1

až
k

–
m

ezi
nim

i
existuje

jediná
k-tice

s
pravděp

odobností
1,

takže
naše

p
odm

ínka
je

určitě
splněna.

N
yní

předp
okládejm

e,
že

už
m

ám
e

prv-
ních

n
−

1
balíků

(n
≥
k

+
1)

zpracovaných
a

dle
indukč-

ního
předp

okladu
se

v
odkladišti

nachází
náhodná

k-tice
z
{1,...,n

−
1}.

N
yní

zpracovávám
e
n

-tý
balík

a
chtěli

bychom
získat

ná-
hodnou

k-tici
z
{1,...,n}.

L
ib

ovolná
k-tice

z
{1
,...,n}:

a)
B

uď
obsahuje

n
.

P
ak

je
tvořena

(k
−

1)-ticí
z
{1
,...,n

−
1}

rozšířenou
o
n

.
K

aždé
takové

(k
−

1)-tici
odp

ovídá
právě

jedna
k-tice

obsahující
n

a
naopak,

což
m

á
dva

příjem
né

důsledky:
(1)

celkem
jich

je
stejně, (

n
−
1

k−
1 ),

a
(2)

náhodnou
k-tici

obsahující
n

si
m

ůžem
e

p
ořídit

tak,
že

vezm
em

e
ná-

hodnou
(k
−

1)-tici
z
{1,...,n

−
1}

a
přidám

e
k

ní
balík

n
.

P
ředkládám

e
k

intuitivním
u

uvěření,
že

náhodnou
(k
−

1)-
ticizískám

e
z

náhodné
k-tice

z
{1
,...,n

−
1}

(kterou
m

ám
e

z
indukčního

předp
okladu)

zahozením
náhodného

prvku.

b)
A

neb
o

neobsahuje
n

.
P

ak
ale

není
ničím

jiným
než

k-ticí
z
{1,...,n

−
1}.

T
edy

i
náhodná

k-tice
neobsahující

n
je

prostě
jen

náhodná
k-tice

z
{1,...,n

−
1}.

A
hle,

jednu
takovou

m
ám

e
z

předchozího
kroku!

U
ž

um
ím

e
vygenerovat

náhodnou
k-tici

obsahující
a

neob-
sahující

n
,

teď
bychom

chtěli
tyto

výsledky
dát

dohrom
a-

dy.
P

ravděp
odobnost,

že
náhodná

(lib
ovolná)

k-tice
obsa-

huje
n

,
je

rovna

p
očet

k-tic
obsahujících

n

p
očet

všech
k-tic

= (
n
−
1

k−
1 )(

nk )
=
kn
.

T
edy

náš
algoritm

us
by

m
ěl

s
pravděp

odobností
k
/n

vyge-
nerovat

náhodnou
k-tici

obsahující
n

a
s

pravděp
odobností

(n
−
k)/

n
náhodnou

k-tici
neobsahující

n
.

–
4

–

T
ím

jsm
e

tedy
vlastně

(přinejm
enším

neform
álně)

dokázali
správnost

následujícího
p

ostupu
v
n

-tém
kroku:

1.
V

ygenerujem
e

náhodné
číslo

r
∈
{1,...,n}.

2.
P

okud
r
≤
k

(nastane
s

pravděp
odobností

k
/n

):

3.
V

ygenerujem
e

náhodné
číslo

a
∈
{1,...,k}

4.
N

ahradím
e
a-tý

(tedy
náhodný)

balík
na

odkla-
dišti

balíkem
n

(vygeneruje
náhodnou

k-tici
obsa-

hující
n

).

5.
Jinak

(s
pravděp

odobností
(n
−
k)/n

):

6.
P

onechám
e

odkladiště
b

eze
zm

ěny
a
n

-tý
balík

za-
hodím

e
(a

m
ám

e
náhodnou

k-tici
neobsahující

n
).

N
yní

si
všim

něm
e,

že
3.

b
od

vůb
ec

není
p

otřeba.
V

nahra-
zovací

větvi
m

ám
e

zaručeno,
že

r
∈
{1
,...,k}

a
všechny

tyto
hodnoty

m
ají

stejnou
pravděp

odobnost
(r

jsm
e

gene-
rovali

rovnom
ěrně

náhodně).
T

edy
m

ůžem
e

prostě
vyhodit

z
odkladiště

r-tý
balík.

T
ato

na
první

p
ohled

technická
drobnost

nám
um

ožní
se

na
řešení

p
odívat

ještě
úplně

jinak.
A

le
o

tom
až

za
chvíli,

nejprve
se

p
odívám

e
na

program
a

předvedem
e

form
ální

důkaz
správnosti

našeho
algoritm

u.

f
r
o
m
r
a
n
d
o
m
i
m
p
o
r
t
r
a
n
d
i
n
t

d
e
f
v
y
b
e
r
(
b
a
l
i
k
y
,
k
)
:

b
u
f
=
[
]

n
=
0

f
o
r
b
a
l
i
k
i
n
b
a
l
i
k
y
:

n
+
=
1

i
f
n
<
=
k
:

b
u
f
.
a
p
p
e
n
d
(
b
a
l
i
k
)

e
l
s
e
:n
a
h
r
a
d
=
r
a
n
d
i
n
t
(
1
,
n
)

i
f
n
a
h
r
a
d
<
=
k
:

b
u
f
[
n
a
h
r
a
d
-
1
]
=
b
a
l
i
k

r
e
t
u
r
n
b
u
f

Form
ální
důkaz

U
kážem

e
sijen

indukčníkrok,zbytek
je

stejný
jako

u
nefor-

m
álního

důkazu.U
važujm

e
lib

ovolnou
k-tici

P
z
{1,...,n}.

C
hcem

e
ukázat,

že
se

na
odkladišti

bude
p

o
n

-tém
kroku

nacházet
s

pravděp
odobností

1/ (
nk ).

R
ozeb

erem
e

dva
pří-

pady:

a)
n
/∈
P

.
P

ak
P

p
ochází

z
předchozího

kroku,
kde

se
vyskyt-

la
s

pravděp
odobností1

/ (
n
−
1

k )
(z

indukčního
předp

okladu),
a

aktuální
krok

přežila
s

pravděp
odobností

(n
−
k)/n

(roz-
hodli

jsm
e

se
n

-tý
balík

zahodit).
T

edy
pravděp

odobnost
výskytu

P
p

o
n

-tém
kroku

je

1
(
n
−
1

k )
·
n
−
k

n
=

1
n

n
−
k
·
(n

−
1
)·...·(n

−
k
)

k
!

=
1(nk )
,

což
jsm

e
přesně

chtěli.

b)
n
∈
P

.
P

ak
P

vznikla
z

nějaké
k-tice

Q
nahrazením

něja-
kého

balíku
x

za
n

,
tedy

P
=
Q
\
{
x}
∪
{
n}

pro
lib

ovolnou
z
n−

1−
(k−

1)
=
n−

k
m

ožných
voleb

x
.P

ravděp
odobnost,

že
z

daného
Q

vznikne
P

,
je

kn
·
1k

(m
usím

e
se

rozhodnout
nahrazovat

a
vybrat

k
nahrazení

právě
x

).
A

pravděp
odob-

nost,
že

jsm
e

v
m

inulém
kroku

skončili
s

jedním
z
n
−
k

m
ožných

Q
,

je
(n
−
k)/ (

n
−
1

k ).
C

elková
pravděp

odobnost,
že

p
o

tom
to

kroku
dostanem

e
P

,
je

tedy

n
−
k

(
n
−
1

k )
·
kn
·

1k
=

1
n

n
−
k
· (

n
−
1

k )
=

1(nk )
.

A
tím

je
důkaz

správnosti
hotov.

N
a

konci
algoritm

u
pak

budou
m

ít
všechny

k-tice
stejnou

pravděp
odobnost

1/ (
Nk )

a
m

ám
e

p
ožadovaný

výstup.
Č

asová
složitost

algoritm
u

je
O

(N
)

a
pam

ěťová
O

(k).

A
lternativní

řešení

N
áhodnou

k-tici
m

ůžem
e

vygenerovat
také

tak,
že

vygene-
rujem

e
náhodnou

p
erm

utaci
balíků

a
z

ní
vezm

em
e

prv-
ních

k
prvků.

T
o

zní
trochu

zblátadoloužnicky
–

když
ne-

m
ůžem

e
p

oužít
ani

sam
otné

N
,

kde
bychom

přišli
k

takové
p

erm
utaci?

Inu,
op

ět
inkrem

entálně.
B

udem
e

chtít
na

kon-
ci
n

-tého
kroku

držet
v

ruce
náhodnou

p
erm

utaci
prvků

{1
,...,n}.

Z
ačnem

e
s

triviální
p

erm
utací

obsahující
p

ouze
první

balík
a

v
každém

kroku
ji

budem
e

chtít
rozšířit

o
je-

den
prvek.

N
yní

předp
okládejm

e,
že

už
m

ám
e

náhodnou
p

erm
utaci

prvků
{1,...,n

−
1}.

C
hcem

e
vygenerovat

náhodnou
p

erm
utaci

na
{1,...,n}.

V
šim

nem
e

si,
že

prvek
n

se
m

ůže
vyskytovat

stejně
pravdě-

p
odobně

na
všech

p
ozicích

a
že

p
okud

ho
prohodím

e
s

prv-
kem

na
n

-té
p

ozici,dostanem
e

na
konci

n
a

před
ním

náhod-
nou

p
erm

utaci
na
{1
,...,n

−
1}.

L
ze

to
ale

udělat
i

opačně:
vzít

náhodnou
p

erm
utaci

na
{1
,...,n

−
1},

na
konec

při-
dat

n
a

pak
ho

prohodit
s

náhodně
vybraným

prvkem
.

T
edy

náhodné
p

erm
utace

vyráb
ět

um
ím

e.
T

eď
nám

ještě
život

kom
plikuje

fakt,
že

bychom
na

uložení
takovéto

p
er-

m
utace

p
otřeb

ovaliO
(N

)
pam

ěti,
což

si
určitě

nem
ůžem

e
dovolit

(kdybychom
m

ohli,
prostě

si
do

ní
načtem

e
celý

vstup,
sp

očítám
e

délku
a

vzorky
vyb

erem
e

přím
o).

M
y

si
ovšem

celou
p

erm
utaci

pam
atovat

nep
otřebujem

e
–

zajím
á

nás
jen

prvních
k

prvků
a

všim
nem

e
si,že

přižádné
z

úprav
nepřenáším

e
inform

aci
z

jednoho
m

ísta
p

erm
utace

na
jiné.

K
tom

u,abychom
určili,jak

se
zm

ěníp
očátečníúsek

p
erm

u-
tace,

nám
stačí

znát
ten

a
nově

přidávaný
prvek.

V
šechny

zásahy
do

prvků
od

(k
+

1)
dál

m
ůžem

e
prostě

z
program

u
vyházet.

Z
bude

algoritm
us

nápadně
p

odobný
předchozím

u:

f
r
o
m
r
a
n
d
o
m
i
m
p
o
r
t
r
a
n
d
i
n
t

d
e
f
v
y
b
e
r
(
b
a
l
i
k
y
,
k
)
:

b
u
f
=
[
-
1
]
*
k

n
=
0

f
o
r
b
a
l
i
k
i
n
b
a
l
i
k
y
:

n
+
=
1

#
Z
v
o
l
í
m
e
m
í
s
t
o
p
r
o
p
ř
i
d
á
v
a
n
ý
p
r
v
e
k

r
=
r
a
n
d
i
n
t
(
1
,
n
)

i
f
r
<
=
k
:

#
P
r
o
h
o
z
e
n
í
p
o
p
i
s
o
v
a
n
é
v
ř
e
š
e
n
í
:

#
p
r
o
v
e
d
e
m
e
j
e
n
t
y
č
á
s
t
i
,
k
t
e
r
é

#
z
a
s
á
h
n
o
u
p
r
v
n
í
c
h
k
p
r
v
k
ů
.

i
f
n
<
=
k
:

b
u
f
[
n
]
=
b
u
f
[
r
]

b
u
f
[
r
]
=
b
a
l
i
k

U
ložený

začátek
p

erm
utace

odp
ovídá

našem
u

odkladišti,
a

náhodná
m

ísta,
na

která
prohazujem

e
nově

přidané
prv-

ky,
jsou

přesně
náhodná

r
∈
{1,...,n},

která
generuje-

m
e

v
k-ticovém

algoritm
u.

T
ato

verze
se

liší
vlastně

jen
tím

,
že

v
k-tém

kroku
začíná

s
náhodnou

p
erm

utací
balíků

{1
,...,k}

nam
ísto

usp
ořádaného

p
ořadí.

U
kážem

e,
že

je
to

úplně
jedno.

P
ředstavm

e
si,

že
p

erm
utačním

u
algoritm

u
v
k-tém

kro-
ku

prostě
„p

od
rukam

aÿ
nahradím

e
náhodnou

k-prvkovou
p

erm
utaci

za
(1,2

,...,k)
a

zajím
á

nás,
jaký

to
bude

m
ít

vliv
na

jeho
další

průb
ěh.

U
rčitě

to
nijak

nezm
ění

p
ozice

–
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